www.Padasalai.Net . ?t} psg 9] /

N

13.

QM sreranGs Gurey - 2024
10 - o ausiy @ enfl g5 1o 2y

&N6oLh : 3.00 Lpewofl L WAOUETITEET { 100

I eluner eleoLews CoiposGhas aTpis - '14X1=14
A= {a b C}, B {2 3} C= {P: q, I, S} 6T60ﬂ6\) n[(AU C)XC] et LDSBUL‘I
a)8 b)20. | c) 12 d) 16

2. (a+2,4)wpprbd (5, 2a +b) Spbw euflepatiu@GsiiurL SpuenLaser AWM (a, b) =
a) (2,-2) ) [CTS D ¢)(2,3) d) (3,-2)

8 f(x)=(x+1)~=x~1) &G smiurers
- a) Grilw &y b) @ sereniiyy ¢) BemedLpaiyy d) wupsaniy

4. 65 wppib M7ule 1B.oum.eu. 65m - 117 erebip cuigafied erupgiLb@Lings) m-651 Loy
a) 4 b)2 ‘v 81 d)3

5. @ &LEHOBMT euflensuledr Geugl 2-nilikledr 6 LLMEIGLD 7 eugl - NITe 7 LLEIGLD sLo6ioesie 13-6ug

: 2y a) 0 b)6 . , c)7 d)13

6. A=2%wponb B=2%+2%+20+  +2° & paevor_eupmier erg o_evtreno? a) B Speng Aw 6fi 2 Sifmib
b)Awpnib Bawnb  ¢) B Syergl A & el 1 ifsid d) A &yerg Bee 6L 1 Sifald

7. (x-1y=9erdiey a)-1 b)2 c)-1,2 d) Bewe ggiileoewed '

256xy*z" 16|x ol 16 y 16)xz°

&. 25x6y626 &1 S)JIT&&@Q'JLD a) < 5 yz b) e ¢c) = 51y d) = 5 y
3y-3 Ty-7 Oy 9% 21y2—42y+'21 72 -2y +1)

Q. 77 o Y —_— .

e e @ b 2dy—21 VT BRSSP
'10. AABCe DE || BC,AB = 3.6cm, AC =2.4 cm and AD = 2.1 cm erevfiéd AEer Bemb
~a)ldcm b)1.8cm . ‘¢)1.2cm d) 1.05 cm

M. x=11 qetnp GanLigedr soeTUMLTeTS  a) X Sigaide Senevr " b)Y slessE Senevor
c) %ﬁﬂq@mﬁ ULSIFE1FE0EILD : 1 - d)(0, 11) eretnp Lemerft euLglEaIse0@ILD

2. G&m@ggam@ PQ-6ir smiiey \/— ereofied PQ-&&& Gl&m:@gg;nan @@&wamupuﬂsm gmiley
a) 3 ) T £ B »c)J— d)0
(2, 1) & euGib Ustafiuines @nesor. & CriCan@sst 3 a)x-y-3=0;3x-y-7=0
b)x+y=3;3x+y=7 c)3x+y=3,x+y=7 5 d)x+3y-3=0;x-y-7=0

g ey y MRIAR: 2. 2~ 2% 3%

, o B ERA) ey Xy b

14, tan® b sec 0 erevf S5=l b)—5-—F5=l¢) 5+5=1d) 5-==
x=atand poib y=ab sec O & eoa) = ) b c)a2 B d)a2 = 0

II gGsgub 10 Gﬂannmas@sm@ oL (BLD sﬂanl_mafl_ (aﬂamr srsuur 28 srLmw eflerm). 10X2=20

15.  A={1,2,3} wbmrb B= {x/x ez 108 e\ Lt e1evion} erevfied A X B opmud B X A anevors, \

16. f(x) = 2x — X eTe018 QNGBS Beeng) erevfied (i) f( 1) wpmub (ii) f{x + 1) snesors.

17. ersorp wrrrunsow aFedFiuteriled (C) LGITGII aeuuuﬁsmsouw ungeraniged (F) e_siten Qeulu Haveouytb
@answres@w FNILNGLD (Sw@u.o &g t(C) = F 6rasﬂ60 @me [ =< C +32 cﬁlcpsswr_mmqj]em S sners.
@it© - (i) t(-10)

18. 10" = x{mod 19) erehymeunp) Sewjoud X wﬁusmu& BNevons.,

19.  x,10,y,24, Z ETEOTLIENEY 60D mn.@;bapm_rr snrﬂsd)&u.‘ila) £_enemeut asuﬂeu X, y z - &1 LB &nevors,

1 V4 ' :
20, 341+ 4.2 aeinp QM6 G0 Baed BneHE.
- x+10 :
21, . e16bTm (B&na»snujl(m Glﬂsmsasuu:_l_ LD,{{;‘LILI BIT600TE. :
22, 92b*x2—24 abed x +16c2d*=0.a 3 0, b O 160D GOSN IR POEIBGDT £5657600 peroiLs EETHTE.
L 3 3 R
Y ; ‘
23. &@EGS. ok QM 10 Maths P-1

xX=y y-x’

. o = Scanned with OKEN Scanner
Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

24.

.34,
35. -

386.
37.
38.
+. 180,
40.

at,

B =

Iv
43.

44,

(i) x =3 erevficd y-eed an

) .Padasalai.Net www.Trb Tnpsc.Com
VOO iy b Y
A

1y}

LBB® /| e Bpmpaag AD. BD =4em, DC = Jem &

. 4 .
wppid AB = 6em ereofled AC &nson®: ; 4
4cm D 3cm

P(-1.5, 3), Q(6, ~2), R(-3, 4) eren Ueafaet @ap@amm_eLosvest erenr BerpLil :
4,~6 &pBw X HPID y QUL BT DBEDET £ 6mLILI GrpiBmmigedt FLOETUNE HM60oT.
cosé
] +sind 0

X -2y +3=0,6x+3y+8=0 epdw CriCanbos QETMIBaGIHTN] OTRIGSE! 6160 Berptil. <
gCHEb 10 efembsepie WG elelial. (@ eeor 42 HLLm sfleTm) 10 X 5 =50

= sec 0 - tan @ g (pHODMEBEEDILI Berpul.

A={xelW:x<2),B={xeN:1<x£4},C={3,5} erenfied AX(BUC)=(AX3)U(.AXC) STE0TLEDS
st 2%+ T, x< -2, : ;
f:R->Reasm snLnETE) fx)= x* -2 ~2 S X% 2 61607 EUEDILINISHSUILILLITED
’ 3x—-2; . X23.
SM)=-3/4)

(M) () f-2) (ii_i) fa)+2001) (V) T T3y -@GedT LDBLIL| STeTTE.

1ix) = x—4, g(x) = x2 h(x) = 3x — 5 ereofied (fog)oh = fo(goh) erevriems grilunt.

i1 6 3 - (R : i i 51m) LNGRIGETEL tﬁlrﬂg';@ FHOTE
0 ML HETSLAPSTET ¢h. 207 & Bal- GHABTLIT eurflensuied SEMLDIILD et DIk o -
DTN GHEDBHEDHED OMBES GO, Sleubri) B ALl ABTESSINET ALGEES - 4623 srarfied
EIOEUTTH GLPHERSILD OLDILD OSNEDSILIEDEDTE 5neo‘ar&... i /e b¥ad :
Q@ OUESES OBMT uflenauled 265! £ DI J6 whnib ez 2 DIty 96 eofled Sb5 epmLTauflens
ET6T01S, ; ‘ LY ’
Ox* + 1253 + 28x* + ax + b SHeTH Qb LLPEUTHELD ET6MED 3, b et gl BIOs. - . o
2x2— Tx+ 5 =0 660D FLDGITLITLLQGHT ALPEONEMESTT f Lo /3 etenfied & amevbrLIeuDISOT LD IL| SITETTIE. |
lel il @,

a ‘.

&igs: 3x—2y+z=2,2x+3y—-z= 5,lx+y+256.
Gaean BeHpsms S Babiss. N e s P ;
(8,6)(5,11),(=5, 12) obopyd (4, S)Qwuqmam(gpswwmw%nmgmﬁugﬁsmummm
A(—4,2), B (6,—4) Opdw Lseiaemen BnertTeELD GRS EHEISCHTLIQE0T FLDETUND ST6TITS.

 DeuciGeum) e WigTRIseT Anen. Sge® BLLLIRIEST QETNIGABTEND| aTHandins 2 _eTener. Q& 5an.u:nem
 mbneg st misefer GobUpTRIGEGT (6, 10) 6161 yeerfudeSlmibgI (14, 12) eredTm LeTe U6 SnausSna!
eTentied BLDIUI6E0T FLDETLIMLGDL & &HT60Ts. ! ' '

' i S
CO? o - — erenficd az =$in0 eeon Herld.
1+sind a a +1 Sl X L g P &
Cuanefiib 10 6w.L5. 165.15., 12. F.L5, 24 L5, ded1p LisE SleTajerer 15 sgl eilge @@@55n£gmsm
o_ceneor. B eueTTTeuTS GBBRIGEDES BBIEUuID raleleme) UpLIenU SlemL. i SirmisisseD? A

Seangy eanaseséGh eleLwal - " ) ; : ; . 2X8=
&) anGésiurL WaGsneonb PQRET @be LbRIBaT6T eflBib 4/5 61601 SlELDIL|LON) pé&Ganewnd PQR
ey, (Sieney sngeeh 4/5 <1. G g L R A
&) PQ=45em, ,p 350 b £_sAECEeND ReGHE QremmuiCL HESEHIIET jpemd RG = 6em

- Ge0T SOOI 1 pgGeezond POR euenps. S

S)QIEMT 5085,/ pamarsiyp i Gk Lok Eopn i banangny - GH QmILLLD LS
TGRS ariaso, () 6l o0 LoneOeLEb siee. (2) 90 B rriaed (RUEOOAEGLD SHITILD GTEUEIETIE?
® 300&..L6.§,ngmmmﬂ v GELD SHEL?. i § ; i g

&) xy =24, %,y > O ereing, QeI eng Qe SIEL Uu TG R

ST, (11 <, p idve i : ,
% (i)y = 6 erenfied x - @B BICTE: O\ 10 Maths P -2

. o = Scanned with OKEN Scanner
Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com



https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

